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Answer Key

Class - 1
English Literature

I’m Not Going To Get Up Today

Fill in the blanks:-
alarm

Alaska

teeth
Strawberry
tickle
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Match the following:-

1. Give my egg backto a. my bed (3)

2. You can tickle b. cold water on my head (4)
3. You can shake c. the neighbours say  (5)
4. You can pour d.myfeet (2)

5. ldon't care what e. the hen (1)

Answer The following questions:-

The boy wishes to sleep.

The kids got up in Alaska and in China.

The boy did not like the neighbours.

The three flavours are Strawberry, Marshmellow and Butterscotch.
The boy was supposed to have egg for breakfast.
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